FI2REMBTREILES
(——&29:-r§~38£-r;r:)

EIIE
=
HY
T
2
.
N
do)
HY
T
{
&
HY
T

Hm
%
]
=



EhestE [H29~H3 1)

(#138] SE2RERMEESEE

w % [CHEITHZHAEXRES X e 0
el el el
o3 _ _ _ EEBRFEZHROATLE
:».;\71'%1?: 1 A {,—g%;%% 21 4, 380
DAt 2 5 1 1 A [EFFEIEREMEEE 23~30 4,589
DAt 3 5 1 1 A [BRRKIERIEEXE 20~ 7,100
. INB AR T _
DAt 5 5 1 1 A |[kDORERBRIEHE 30 4, 500
DAt 6 5 1 1 A [BERKEE - SHKARHTER 29 14, 000
e 1 5 1 1 A [HFFEmEH 26~30 48,822
DAt 8 5 1 1 A |BERTOZILBHKER | 29~30 82,000
LHLEHEEE
LY IE 9 5 1 1 A [EF - BMETOZILER | 24~30 19, 648
=Eick
o FEGEEES _
LY IE 10 5 1 1 A SEIERE GEES) 26 811,571
3 EA=ERTRITE o 1N -
L IER 11 5 1 3 A MEyiEEE 28~32 1,250
LY IE 12 5 1 1 A |EFEEEFERESSE 30~32 1,000
DAt 13 5 1 1 A [EFFEFEFRRERUVHE | 29~40 22,000
Y EAER 14 5 1 1 A |ERTRRYIEL 29~40 1,000
Y EAER 15 5 1 1 A |RE - KEFBREAEE | 28~ 3,312
e 16 1 3 4 A |KE/NREITEE 22~31 551, 285

1/33




{%‘ﬁii] +§2-§f§£§5 E

1z S [2HITH= = =% £ =Sy i

N -l e BRER wn | RERR

2 | =2 | =B

BIER 17 3 3 1 A |xo—nizxERSE | 2~31 235. 085

BT 18| 3 3 1 A |lEBEE AzEAE2 20~31 211,534

BISE 19 A |KENREAEZE 22~217 38, 150

BT 20| 6 2 2 A |zxEBmEsTS 20~31 2. 410

N 21| 3 4 B giﬁmﬁﬁmwﬁﬁ 28~31 2,198

BIER 2| 6 2 : A ;ﬁ FHmHIBEAXER | 975 16, 680

BT 23| 6 2 3 A |AE-05 254 28~31 3. 063

BT u| — - - A |EpstESEmEA 25 4,000

BT 25| 2 2 1.2 | B |EExnsz 27~31 6. 709

BSE 26| 6 2 3 A i’ﬁwwﬁi&ﬁ% 27~31 4, 150

. ERIRSIE S 2 T L _

B R 27| 6 2 3 A |ERE 32

B (R 8| — — - A E**ﬁyxﬂ&ﬁ% 22 6. 601

s BABSHEE -

BTSR 29| 6 2 3 A (B 26 4,362

s EANBSHIEZE -

B R 30| 6 2 3 A (BB s | 2 13, 390

BSE 31| 6 2 3 A zg*gz(:ﬁeaﬁsﬁw 28 - 31 5. 262
o = L0

YR— MR 32| - _ - [ el 20~27 81, 229

2/33




(#138] SB2REH

03 O E

ey =]

5 z=| Chtzmuzzzs Hxz =4
q AN %
N -l e FREE wn | RERR
= B B
*

< B R M EI312741
EESCYR [ 45| _ _ _ ceame | 2 61, 800
K%
53 YK LS
Fe! 4| 6 1 1 HEESC YBE 19~31 25, 355
£55< YR 2 i 3 N _
Fe! 36| 2 ’ 3 tAGEESEES 19~31 919, 343
£55< YR 2 1 5 - _
Fe! 6| 2 j ; TERHESE 27~30 36, 560
£55< YR 2 1 5 - _
e 37 5 A 5 TERNEESHBE 29~31 9, 900
53 YK M - BRETHES L | o
Fe! 38| 1 2 3 oA 27~31 86, 299
FEOCUM 49| 4 1 1 QSa=FoBmELE | 26~31 14, 952
R1&
§§5<Uﬂ 0| - - - BB FREE 21~28 3,348
53¢ YK BB REAEAEH | o
! n| 6 1 1 Pl 27~28 448
éf’?d( VB | - _ - F55C YRSER 20~24 900, 000
FEOCYM | 43| _ _ - FeRREs 25~28 | 1,548 127
R1&

o BT — FELy SH
FH-VE- | 2 3 B (F—hEF—<EL | 28~31 25,363
Lo cRI%ER s
AR 45 — — — HTEFEER CE)EE | 19~21 6, 000
HEHR 6| — _ _ * 19~28 32, 264

ARIBRT R

3/33




(#7#7] F2RRH

iy AN
=] FE

5 | ChrmuszEs Bes E | 4
N -l e BRER wn | RERR
g2 | B2 | ®E2

EEHER 47| 6 2 2 A |axERTERESEE | 20~31 43, 245

EEHE 8| 6 2 1 A |omE@AEE 20~31 59, 432

EEHE 9| — - - * _ 21~26 904, 095

SRR C liregepons

SEHR 50| 6 9 1 A giﬁgaﬁtﬁaﬁﬁ 29~30 5. 000
ANERER DRGSR

EEHE 51| 6 2 2 A ;mmmﬁﬁ%%mﬁ 26~ 4, 325
n)
5BELMBBEELRT _

EEHE 52| 1 1 4 A [Des 28 920
EEEESEERER UL

EEHER 53| 6 2 2 A |tERERsEEaES | 28~ 38, 460
TEE
AEEEEEGILHEE

EEHER 54| 4 4 1 A 255 29 2. 000
KA VH STy T N

EEHER 55| 6 2 1 A B51E%%% 29 3. 744

EEHE 56| 6 2 1 A |mrasiesg 28~32 4, 000

SEHR 57| 6 9 1 A [HEZER. @RAD | g, 7.560

REURLISE

4/33




(#138] SB2REH

03 O E

[y =N-]

" 3 IZHEITHZAEEXEES EEL =i
H Z\ s
N -l e FREE wn | RERR
g | ®2 | ®BE

HEHR 58| 6 2 2 iﬁ ERARESHES | )9 7,250

WEWmEmE 59| — - - BEY— N AB 23~28 54, 445

IEERIGEHRZR 60 — - — S I PH—/N—FH 23 5,000
BHREY —N\EEETL

WEWMESmE |61 6 2 2 B, NwT—3. | 24~29 9, 255
ERAREHEA

EREHRE |62 6 1 i LHEXRPCRUVT | 4 2,000
hE

i _ _ _ EREBEREBLRT |,

[EMERE | 63 ey 24~25 41,870
=

(= _ _ _ WwWvh-Eazaz=4y— ~

[EMEIRE | 65 NGt 25~27 125, 221

WEMEEmE 66| — _ - %2 = & BRI 25~27 13, 622

R INEES 67 — — — EBRRVATLEEAEIE 28~32 154, 698

WEHREHE (68| — - - BRRLRAFLERE | 28~32 30. 000

WEMESmE | 69| 6 1 3 FR%y b T—5 %8 | 27~28 33573

= EfETJOoE—>3 vl

B®MERE | 70| 1 3 1 Bl 26 3. 000

BHREHE | 71 1 3 1 g;{;‘*’\o_:)”@%*m 26 5. 163

R INEES 72 1 3 1 TOINTA R—D 26 1,000

WBHmE®RE | 73| 5 1 1 ﬁé%“ TOERARALUE | 9931 3. 000

BRERE | 74| 1 3 1 A32=F4FNEFAL | g 3. 600

= RFMAETDOPREX

5/33




(#138] SB2REH

03 O E

[ [Ty ==y = |

5 =| ChzmuBzES Hxz | .
N -l e BRER wn | RERR
= B B

WE®ERE | 75| 6 2 2 EABTCATVESER 28~31 53, 200
WE®MERE | 76| 6 2 2 CATVE BB EH TS 20~30 | 815,000
. EAESHELR 5

RO 771 6 : 3 LEIHTE 26~31 8. 971
- _ _ _ BABESHEL _

RO 78 SEEA 26~28 754
- BEREKSERY FT— |,

RO 790 6 : 3 ] 25~31 8. 480
RO 80| 6 1 3 E’i%“’ﬁé:/x*‘*%%ﬁ 25~31 21,819
- BEREKEERY FTI— |

BO%K 81| 6 1 3 BRIAORTY 25~31 6. 849
- BEREKEERY FT— |

BO%K 82| 6 1 3 BREonL 25~31 10, 509
%D{% 83 _ _ _ JE%%@MK%IE‘E :/Q_E 25 2Y 000
= _ _ _ HBEN)T7 ) —RE

1EHHE 84 el N 22 4,998
B 85| 3 2 4 gfﬁzﬁ%@% (BERE | (5~ 10, 755
R REA 86 3 4 1 HEEiiHEREE 19~31 219, 862
Bz 87 3 4 1 HEeEitthEswmEE 19~31 12, 290
- B B ~ ENBUE L E— RS | o

R 88 = 19~27 89, 609
= VILN—AHt 8 —E& -

1EHHE 89| 3 2 4 SAAAIA 19~31 11,257

LEESESRS
Fr R EA 90 3 2 4 %%%ﬁ%ﬁ%ﬁﬁ%%%ﬁ 19~ 11, 965
=

B 01| 3 2 4 Efﬁg@éi*’%t = | 19~ 30, 399
B 2| 3 2 4 BERBREY—EXF | (g 228, 095

6/33




Hﬁﬁfgffgggn

1z S [2HEIT D54 = FER 5y}

B4 % = X 43 %

BER 5[ |[eemEwEss]| BRBE HARA BRE

= B B

RN 93| 3 2 4 A |EEsmmY—cxEE | 19~ | 1,069,334

= BiIXEEERHEE -

B 94| 3 2 4 A SEies 19 9, 642

_ iR R RWE R _

- M A E IR ST _

ERTREA % | 3 2 4 A |xpa marm 19 21,835

B 97| 3 2 4 A |LDEEBERESALTT | 9.5 7,658
=

R IR 98 — — — A |HERESKNEE 19~27 17, 600

FEF IR EA 99 3 2 4 A |GUEEREHRTSE 19~31 374, 550

= BUEEERMEE -

B 100 3 3 1 A e s ey | 21~ 83, 384

B 101 3 2 4 A |mEnEsg 19~31 37,744

FEF IR EA 102 3 2 4 A [EEREHEERANEE 19~ 18, 298
M4 E IR ST R

FEF IR 103 3 2 4 A |[BEEELEEHERGES 19~ 11,174
E
*

4% 104 — — — C |[AARAABHIERAL | 21~23 3,000

EALk REREABHEEE

B 105 — — — A |cesFupdse 99 ~24 217, 808

] ~ _ _ EEYAR— R URT LM | o
RE#RZELV2—F

RN 107 3 2 4 A |2EEH (EEEIEE | 24~31 2,825
)

B 108 3 2 4 A giﬁm%i%ﬁ_ex 24~ 11,121

7/33




(#138] SB2REH

Ly N E.

[y =N-]

" 3 2B ITHEZLUEERS EExL =
=) VAN o
BE% s % Teenzmzse| & EEME H#ARA wRR
2 | 82 | &=
AR 109 3 2 4 EEREEXIER 24~ 5, 868
AR 1ol — — — REFY 24~27 300, 135
- RSN EIEY—E R _
ERTREA 1| 3 2 4 ot 24 520
_ B IEERA SR _
AR 1n2| 3 2 4 et 25 1.718
_ B XIEERG L _
AR 13| 3 2 4 ) 26 6, 587
BEABESHEZ
RN nal - — — Vﬁ%%%&&X%A& 26~28 1,436
- B B B BABSHEE ~
AR 115 et = s | 26~27 1,200
AR 1e| 3 3 1 ISR 26~ 2,370
BMELER |117] - — — T EREREEE 22 1,000
- o BEECOS LIMEEHR |
=REXIER [118] 3 9 4 i Ly 19~31 16, 840
SEERER (119 3 2 4 EREETYERME | 9. 6,579
(ETH)
- - EANDS THEIZEL |
=REXIER [120] 3 5 1 Thaa 19~31 7,792
- o BEELEEL LA — |
=REXIER (121 3 9 4 e 19~31 161, 043
EBHMELER [122] 3 2 4 A AR 19~31 20, 902
EEELIER |123] 3 2 4 RmAY—E X 19~31 196, 186
- _ REY—EXIZRSIKA ~
=REXIER (124 3 9 4 2PN 28~31 14. 060
- = —RFIER ~
=ERERIER (125 3 2 5 il 19~31 30, 546
B —RFHELE B
EEELIER |126] 3 4 1 gﬁﬁ%%%%@ﬁﬁ% 19~31 5, 413

8/33




(#7#7] F2RRH

I N E
=] FE

5 | chHrmuEzEs B =i
H Z\ s
N -l e FREE wn | RERR
2 | 52 | 2
EWMESER (127] 3 2 5 G s 26~31 251
_ B SRFHEL N
EWMESIER (128] 3 2 5 ARk 19~31 603
- B _ _ _ SRFGEEAEFENE |
SMETIER (129 Sl 19~28 945
= = _ _ _ ZRFEBEERNE ~
SEELIER 130 el 19~28 152
EwmEwEE (131 3 2 4 g%“iﬁgﬁ'ﬁﬁg 19~31 051
- B NERIRIEFGE N
EWMESER (132] 3 2 4 TEEE 23~31 084
ERMEXER (133 - - - ;g%%$¥ﬂgﬁmﬁ 23~28 481
= = _ _ _ KEBZEEELSBERY
SEMEXIER 134 SEmERETORET | 2 1998
. B FAH—ERbLE—E
EEWESER (135 3 2 3 KAy 23~31 682
SEEZIER (136 — - — SEEEEINESE 24~26 , 701
ERERER (137 3 2 3 SERRESEREAT | s~ 12
2EEZIER (138 3 2 2 BENEFHZERTEN | 26~31 775
EWMEXER (19| 3 2 3 Ky A 26~31 079
- _ M EEREY AT LN
=WERER 140| - - - EERHNERERGESL | 26 1007

*:

9/33




{%ﬁfil +§2-§f§£§§ E
1z S [2HITH= = , =% £ =Sy i
N -l e BRER wn | RERR
2 | B2 | =B
EmExER 141 3 2 3 A gg_j’*_‘**m‘%*’ﬁ 28~31 2196
BREREE [142] 3 2 3 A @E;g BRETXE | 953 41,167
SBRERIER |13 3 9 3 A zﬂﬁﬁ%g'@ﬁﬂﬁg 29~31 6. 250
BEEZIER |14 3 2 3 A %ﬁ%g%_?4*_ 29~31 9. 000
ZABIUTE R VN ER -
RIR1R 145 3 2 2 A |EgEuAER 19 3. 888
RI8FR 146| 3 2 : A f ;5@%1%@*%”%5**% 23~ 306, 000
RIRIE 7| - - - | A [RREMELEEME ) 50, 000
BIR1E 148 3 2 3 A igﬁjﬂ*“ﬁﬁﬁ%mﬁ 23.26.29| 120,000
RIR1R 149| 3 2 3 A |rEmEnEEasEse | 25~ 92, 570
BEANBSHIEZE
RI8F% 50| 3 2 : A Eﬁ&ﬁﬁﬁéﬂﬁ&x;A 26~28 1,992
EABSHEL
EEXER 151 3 2 1 A BESHEERVAT | 26~27 701
LE
EABSHEZ 5
RIR1R 52| 3 2 3 A (EAESHER s | 26~28 2 315
BRI 53] 3 9 3 A gg*ﬁg%ﬁgﬂ% ENE | 5 50, 000
RIR R 54| 3 2 3 B |[PHENREIN—T 30 40, 000

10/33




(#7#7] F2RRH

48 N5
=] FE

5 =| ChzmuBzES B =4
A VAN 4y
BER 2% leenzlmEsn| BEBE HARS BRA
= B B
EYE3EA 155 3 1 1 A |FIBESERZEMBERERE 29 50, 000
RUERE> 56| o 2 2 A [EERETYTVZAT gz 3,731
*Eﬂtﬁ%t “ 57| 6 2 2 A |sREBAEZ 30 1,300
o ~ ~ ~ MR |,
HSEIBIEE | 150 A iemts 24~26 8. 566
EEBRER 160 — — — A |BREREHSTEHREE 23 120, 000
*
ESERIER |161] 1 3 2 ¢ |wwE 30~31 10, 000
NE L, LEKRE
HEmIEG (162 5 : 6 A %gg%ﬁgﬁﬁ?x; 26~31 5. 595
CEBEAEES
HEEIEG [163] 5 : 5 A |y CHNBREHEESR | )5 19, 120
=Eisk
HEIBIEG [164] 6 2 3 A | E%g%g’ég o 25~31 M. 413
EERIER 165 5 3 2 A |t fgfggﬁ%ﬁ 25~29 63, 626
A REES
HSEBIEGR (166 5 : 5 A | aFzsy—stoa— | 25~31 384, 562
=EE
AT
HSEBIER O |167] 5 : 5 A | aFzsy—rta— | 25~31 38, 277
BHAL S ERIBE

11/33




(i) BORERRETE

e % [CH1T 083 = EX4 £

A VAN 42

BE® s m |eenzmasH| o BERHE mm | RERA

= E5 E5

EEBER 168 5 1 4 B |viuxnmakEsg | 27~31 289

£EWER (169 5 1 2 B [Lgb-hoxEREN | B2 4,762

£EBER [170| 5 1 2 B [Lgb-hoxaREN | B2 2,031

£EBEE (171 5 1 2 B [fgb-roxaRes | A 2,568

EEEEG 172 5 i 3 D |&TLEMER TS 28~31 5, 528

= TEERMRN - WE - FiEE -

RES YR |174] 3 1 1 A |kEEFEREEREES | 19~31 | 3942 041

RES< YK |175] 3 1 1 A |BEZERESS 19~31 | 942,139
@ LEEEAES _

RES< YK |176] 3 1 1 A | eme | 19~ 25, 546
. AUV UYFRhER -

RES YR |177] 3 1 2 A L2k 19~31 41,999

RES< YR |178] 3 1 2 A |E-nR—meRERE | 10~31 52, 785

RES YR |179] 3 2 2 A |zAmmERaES 19~31 | 468, 458
« REDEE CEEEE |,

RES< UK |180] 3 2 1 A |RRES 20~31 | 340,924

12/33




HWﬁfgffgggn

» z| 1zs32:m: = g P =it

| VAN o

BER 5[ |[eemEwEss]| EREE o) BRE

2 | 82 | &=

' FEBRDE BESC |,

BESCYE (181 3 9 1 A [gxg 24~31 55, 439
5 1 X~ 3EEA DT _

BESCYE (182 3 1 2 A LIS rmaman |21~ 95, 894

BEO<CYER (183 3 1 2 A |FRIREFIHERERER | 21~31 15, 942

BESCYE (184 3 9 1 A |BzF—saemEoxTL | 23~31 35, 370
. FEENAETHF

BESCYE (185 — — - A |mzcw 93~25 20, 344

FEERUATIF -4

BESCYE [186| — — — A [BEEVIFUEFAH 23~25 4. 000

BESCYE (187 3 1 2 A |EHBTHEESREE 24~31 56, 989

BESCYE (188 — — - A |DEsEAERE 26 956

BRESCYE (189 3 9 1 A ﬂmktﬂuﬁﬁﬁ 25~31 772

BEO<C YR [190 - — — A |EBREEEBRZEIEE 25~27 261

BEOC YR |191 3 2 1 A |BEEESEE 26~31 3,342
, BAABSHEL N

BESCYE 192 3 2 1 A BRBEs 25 auge | 26~3 1,431

BESCYRE (193] 3 1 1 MEZERREIESEE 29 50, 000
s REEtRe -2 | _

BESC YR 194 3 1 3 e in 32 32, 025

2% 195 — — — A |#EEEmERREEE 24 1,500

13/33




Uinis) BLREMEAHE

" E| ISBUIRAEXES EE7 30

E 718 = X/\ n?l.“}

BER 2w [eenslmEss| EENE HiRd R

= B B

. *

= EER 196 — — — C HREEEEE 24 1,500
* -~

2RI 197 - — — C |REIPSLLRREE | 9093 3,000
FHE

Eli% 198 — — — A |[FREREHEGEE 22 1,850

. [ EAx 3R] -

BHE 199 1 1 3 A e 22~31 213,928
*
EEMBEREASTEM

BRI 200 1 1 1 C e 22~ 108, 739
*

BIR{E 201| 1 1 3 D i?ﬁﬁii%%ﬁ(m 99~ 119, 323
EREHLIESE (K

Eli% 202 — — — A |FIETEEEEERRR IR | 22~26 44,724
ER) BEE
*—l— - —

EHE 203 1 1 2 C |[REERXEBXIE 22~ 18, 000

BRI 204 1 1 1 A |BTEE U AL EIEEE 22~ 72,520

Eli% 205 — — — A EEReBELEREXH | 23~25 2,987

" _ _ _ EF%ISELE ST NE

EE&{% 206 A ﬁﬁg&ﬁﬂé/jﬁé 25 2, 000

" RREERSLEEL |

EB% 207 1 1 2 B |Erimacss 27~31 12,500

- Hhish B2 2 (DA VF - 23 ~

EB% 208 1 1 1 B =i mriems 30 4. 000

an . . . EMHBLRA NS UTY

EE&1§ 209 A #‘ﬂ%ﬁé 28 1, 058

14/33




lﬁibiﬁfﬁﬁﬁgﬁ
1z S [2HITH= = FER 5y}
B4 % = X 43 %
BER 5[ |[eemEwEss]| EREE o) BRE
2 | &2 | &=
. FEFHEMEEHREE -
" EELEERLES _
EHIF 21| 1 1 1 A |Eima 22 12,136
EM%E 4818
BRI 212 — — — A |[#EIoRy b -FAFUR 28 122, 000
5 Li—3t
LR EHERIC & D
2% 213 1 1 4 B |&h&2T5URIz&d | 29~31 27. 000
Hdof 22 2 S 4
e TARES FSRAME -
EHIF 214 1 1 5 B | 30~31 56, 000
ERIF 215 1 1 5 B |7/ sE5FmeEE | 29~31 127, 200
*
a _ _ _ 1o Wl 5ot 5 32 A 4 M
B RBIRE (216 ¢ |ERAZ 21 53, 008
wESERE (217 | 4 A ig%ﬁ%m%ma&@ 27~31 17,376
wERERE (28] 1 | 4 B gwﬁﬁ%m%ﬁ&ﬁ% 28~29 22, 000
_ *
YeEMBREZ (219 1 1 4 C B2 ) o 30 20, 000
o BEYISAL TG REHE
BESERE (221 1 1 2 A iE%ﬁEﬁm%ﬁ%E 26~31 37 797
YELRERER (222 1 1 2 A |BELERGRERIEEE | 23~31 6, 784

15/33




i) BAEMEETE -
Bk E 'ﬁ%&‘ﬁ?éﬁiiff%ﬁ ad éﬁ%ﬂ% ij?% RERA
2 | &= | ==
BESERE (223 2 i 4 A (G4 7Y TIRERE | 03y 1,772
HEMMAREER |224 1 1 4 A |shEEHhHHEESEE 26~31
HESBRE (225 2 i 3 A |ELRE R 30 132, 000
BEXMRE |226) - - - A (S35 ne SEMRIRE | g 30, 000
HEMMARKER |227 1 1 4 A |6REZLHESE 25~ 3,390
BESRRS (28] 1 i 2 A |BERERSL@HHE | 26~ 3, 164
HEMMARKER 229 — — — A |HhERFRERAIEEE 26 22, 380
BERBERE (20| 2 i 4 B iff%gijslz 28~ 21,007
BESERE (23] 1 i 4 B |GERMETLHER | . 7,951
BESERE (232 1 i 2 B |omme 7 Eh | e 66,576
HERBIRE 233| 1 3 2 | B [FESRERUBETY | 2~ 11,618
HEMMAREER |234 1 1 4 B M&l FREX 28~ 14, 446

16/33




(#138] SB2REH

Ly N E.

[y =N-]

. = | chHamuELEs Fus =
E 71N = x/\ "?L‘A:
BE% s % Teenzmzse| & BEBE H#ARA wRR
2 | 52 | B2
e R ERRIR [235] 1 i 2 ;*”\"_’73_5‘“; 30 10, 000
WESRERE (236] 1 1 4 tEEREEE 98~ 15. 992
q THLRRT ERY ~
MEESEERE (237] 1 3 9 E et 28 545
WESRERE (238 1 1 2 557 FE—LEE RE
b RRERE (239] 1 1 2 EORB AR EEE 28~ 60, 000
*
= =
K% 240 1 1 6 AERERERAIER 28~31 157, 868
MEHEREE (H268&
IR 241| 1 1 6 T) 28~31 16,811
SETRCEED (H27RES)
. _ _ _ BT (KiR) _
IR 242 ol AR LA 19~25 28, 800
W 23| 1 1 6 BTAMIER (X - 44T | 59, 22.062
5353
W& 244 1 1 6 EMERSESE LIFME | 28~31 81,078
‘ AYARS
ISR 245 — —~ —~ BUIERFSER (REBEM | 20~24 34, 000
FH)
*
WISE 246| 1 1 6 WM< L mEREL 28~31 222, 580
*
WISE 247 1 1 6 HERREL 28~31 20, 133
WEREEE (KMfE
W& 248 — — — %)

FZERE - BELE

17/33




{%‘ﬁii] T’a’?_?fggg% &
v | B _SBUABLEXES x4 =}
E 718 = X/\ n?l.“}
BER 2w [eenslmEss| EENE HiRd R
2 | &2 | &=
HHE 249| 1 1 6 B |zzEammEkwan 98~31 870
HSE 250| 1 1 6 B é\;"" PR E=TBAM | 9531 600
PR 51| 1 i 6 B Ffﬁgggmmﬁ;ﬁ A | 28~31 598
HHE 952| 1 1 6 B |Hzuusemsz 28~31
- FO/ERFEERSR
HHE 253| 1 1 6 A Faam 29 7,000
} *
R 254 — - - C |mpamTiEssssis
5 *
EIERLEZR 255 — — — C 7B AR f 22 1,600
WIENE 256 — — — A |shduoEiEsEss 23 32, 300
mIERE 257 - - - A |RREVOERRRR | g 22,700
" B B B Fo O ER X —1BETEIS
BMIEKE 258 A | 23 50, 000
BWIERE  (|259] 3 3 A |BErrwEs 30 21,500
BWIERE 260 1 3 3 A | EathztunEREy 19~31 50, 276
WIENE  |261] 1 2 4 A o= ESEES | 19~31 65, 860
WIENE (262 1 2 1 A |[EIsgExERBE | 19~31 106, 400
HWIEKE  |263] 2 1 3 A |BEHLYBH 19~31 22,070
WIERE (264 1 2 2 A |HIEES R 19~31 49, 907

18/33




(##] 5

F2RFHKE

i AN E

LIy =N

" % l:zbh‘é;%ééiﬁﬁ ExL =Sy}
H FAN "?g
BE% s % Teenzmzse| & BEBE H#ARA xR
= B B

BIEKE  [265] 1 2 2 | 4 £ ) T ARG 19~31 102, 676

BIEKE  [266] 1 3 2 mELEaaEs 19~31 152, 474

ETERE  |267] 1 3 6 SNBHLDBIEEEE | 19~31 143, 000

BIENE  |268] 3 6 g;g EDBRTAE | 53 67, 460
L 4

EITENE (260 — — — RO B —E 21 ~22 45, 500

BIERE [270] - - - B2 & 2 Bl o SE A B 21~23 25. 000

BEIERGE  [271] 1 3 2 £, EBEEEEL 21~31 4,893

BIERE (272 2 1 2 T TR S 21~31 20, 221

BIERE (273 - _ - TEHREEEE 22~23 3,000

EIENZR 274 2 1 2 FFEUVREREBREZE | 23~32 64,117
'S\*L&_)L\O)/ﬁ/ﬁ%ﬂ_\/j

BEIERE  |275] 1 3 6 AB - EKA—F— 3 | 2630 12,872
§§+DX%

EIHNE 276 1 3 6 e eToEon |[“,007 120,000

BEIERGE  [277] 1 3 6 BRI ShbLOE | 27~31 28. 366

BIERE  [278] 3 2 ?’* b LR - BET | g 10, 000

BEIERGE  [279] 1 3 6 OTLEDRIEEEE | 27~31 25. 000

s TJS5ooat=-MHPFER -
BIHKE  [280] 1 3 6 Rl 443 27~31 300, 000
EmIELE  |281] 2 6 ifiﬁﬂ'ﬁ HRERZIE | 953 1,700

19/33




(#138] SB2REH

03 O E

[ [Ty ==y = |

5 =| ChzmuBzES Hxz =4
a 2\ F2y
BER 2% leenzlmEsn| BEBE HARS BRA
2 | =2 | =B
BIXRERESEME
EITENE 282 1 2 2 (RERIEA - STAEE | 27~31 450
% - EFRIRE)
" CEEN - BEREHMRT | o
EIENE  [283] 1 2 2 il 28~31 200
EIENE 284 1 2 3 REENENMREE 30 1000
BIENER 285 — — — BT NER IR T B 27 380
BITENE  |286] 1 2 2 2%@%%7’ TRD | g 300
WIMAE  [287] 3 6 Yo TR OEMBIER | g5y 858
EIENZR 288 1 3 3 ZEREBBNFEHRAEIERE | 29~31 , 000
BV ILoaBRK
EIENE 289 1 3 5 EE GIEBEAAT | 29~31 126
k)
" E—F 25 VEEEL | 00
EITEE 20| 1 3 5 R A 27~31 049
R 201 — - - BREMH BEA 23 1500
*
- N I EAREEGUEFE | 9o
R 292 SBERR: 19~23 101
e A 293 5 2 2 EEE S 19~31 . 487
R 204| 5 2 2 BEEEEES 19~31 597
R 205 5 2 2 FRREEEEES 19~31 800
R 206| 5 2 2 EKEEREE 19~31 859
RE 297 5 2 3 gﬁﬁﬁ%% (FREBE | q9~3 598
*
. _ _ _ ANHBEE (BEEK | o
R 298 N R 20~23 668
R 209| 5 2 2 BRESHIE 20~31 922

20/33




{%‘ﬁii] ﬁ}ff;ﬁgga ]

w & EH1T585 = X% £

E 71N = x/\ "J{LQ:

BER 2w [eenslmEss| EENE HiRd R

= ES ES

. _ _ _ ERHEWRER (EX

e ER 300 A L) 20 2,000

*

e — — — FLRERBREE (B ~

e ER 301 C F DB 1) 3 B 21~22 56, 700
. *

R ER 02| - - - C |mRIxETSs 22 3, 550
. *

4 E 03| — - - C ;*ﬁ A EEEEkE T 22 2,060
. *

4 E 04| — - - C |ZEraREKBRRIETS 22 1,000
. *

4 E 305 — - - C |ExprExEISs 22 1,500

B 06| — - — A |RETHHREBRKRIE 31 16, 000

B 07| - - - A [CEGERBEEREIE | 24~26 74,438
. *

4 E 08| — - - C |mEssEBxaTs 24 5, 000

e 39| - - - A ([HETHRRBEEEISE 22 15, 000

B 310 — - - A |HRRHEEELIE 23 26, 450

e M| - - - A |[BREERSERETIS 26 11,459
. *

BE® 312 — — — C |rommmpazkeTs | 21~22 5, 500
. *

4 E 33| — - - C |kERemEseTs 21~22 1,500
. *

Bk & 34| — - - C |mEikmkEesTs 21~22 3, 000

AR 35| — - - | A [FEEEESEEERL | g 39, 550

e 36| — - — A PURTHRERKRIE 22~24 30, 000
. *

IR 317| 5 2 2 C |mmesnmETs 22~31 7,978

e ER 318 5 2 2 A [ERELRFEEEREISE | 26~29 220, 656

21/33




{%ﬁfil +§2-§f§£§§ B
1z S [2HITH= = =% £ =Sy
pum | B X 53 @
N -l e FRBE w | EERA
2 | 2 | ®E
eI A 319 5 2 2 A | KRBERRBRIE
e A 320 — — — A |AEFRSERBEISE 24 10, 000
R 21| - — - A %ﬁmﬁi@k%w@l 24 10. 000
R an| - — - A gmﬁﬁﬁ"'ﬁﬁ%aﬁﬁl 24 10. 000
IR 33| - - - | A [PERATVRERERL | g 23, 300
JEI A 324 — — — A |HERERRBRIE 28 32, 600
R 35| — — - A %g’iﬁﬁmﬁ%&ﬁ 27~28 27,911
R 36| 5 2 2 A |REgESESETS 29 13. 000
IR 327 5 2 2 A 55'75"7/ EREBYRT | 4 39, 000
R 38| 5 2 2 A lEsissemmaTE | 28~20 | 110,000
eI A 329 5 2 2 A [HERERRBRIE 29 16, 000
R 30| - - - A |mEwmm mA 25 5. 000
=n _ _ . L 4
EEX1§ 331 D ﬁ%ﬂ(%ﬂ%%nIE 26 797
B _ _ .
EEQ{% 332 D -Fﬁzu:il7k%ﬂ%$§1$ 26 255
B B B .
B 333 D |mmimaers
B B B .
EEQ{% 334 D {iiﬁ%%7k%3&ﬂ%]:$ 26 1, 318
N
IR e _ _ D |AXMtwLa2—sIENE | 26 1,046
BEA
IR 36| 5 2 2 | A ([EHEETEREEES | 57 08 | 36,564

22/33




(#138] SB2REH

03 O E

[ [Ty ==y = |

y | chF3muBLES Hxsy EW |
N -l e BRER wn | RERR
= B B
2 EGKBRIETE N
BRE 337 5 2 2 00300 " L2100m 29~30 6, 000
= MR ERHRBEISE

e aEA 338 5 2 2 S | eom 30 10, 000
B/ HEERWRISE

e aEA 339 5 9 2 BRI A 4E R 29~30 21, 000
L=230m

$th{% 340 — — — EEERENREE 23 5, 400
*

iz 341 — — — kB RIE TS 19~23 3,093

Hh (% 342 5 2 2 BRI S EE 19~31 72,598
*

Fihi% 343 5 2 2 BT e TERL 19~31 47,049
*

FHihiz 344 5 2 2 ey 19~31 43,127

Hh (% 345 5 2 2 BB HRKEBRIETE | 20~31 10, 000
*

bz 346 — — — BRTKBRIETESEL 24 1,250
*

B im 347 5 2 2 EFKBERETS 929 ~31 6, 241
* -

Hh (% 348| 5 2 2 B35 2 s N R B AR 26~31 16, 000

Hh (% 349 — — — ARk R EE 23~ 21,569

Hh (% 350 5 2 2 EENBREE 23~31 12, 280

Hh (% 351 5 2 2 IEKBRIETSE 28~31 5. 500

Hth (% /2|  — — — INKhEEEE 24~ 1,000

Hh (% 353 5 2 2 SEMMRE R EE 26~31 205, 909

ETFXKER 354 — — — RKABKEBHIELS 22 8,116

23/33




G2 FIREBBAHE

w & SHTHex= = EX4 £ s

N -l e BRER wn | RERR

s | B2 | B3

ETKERE (355 - - - | A |m/RESkEREEE | 3 77, 000
‘ EPBREREBEFOM | ,,

LT [356) - - - | A FOEEESX 22~23 2,003

ETkERE (357 - - — | A |mmmskiEma®EE | 22~25 | 1,237,206

LTk (358 5 3 1| A |[r—s—mmEEx | 2~34 9,000

EFkEE (359 - - — | A |EREEAEBEEE | 25~28 | 43,043
: — _ _ BN S FKERY

ETKER 360 W =g 2 13, 400

EFkEE (361 - - — | A |EM@SkEHREE | 27~28 | 209,202

ETkERE  [362) 5 3 1| A |EEEmkEmREE | 20 1, 500
. KEFEETY FTRD

ETkEE (363 5 3 ro| oA [REREIES 30 15,876

ETkERE  [364) - - - | A [FEFREEBRRER ) g 3,240
‘ AN S Y RREHE | o

ETKER (365 5 3 I S [ 29~32 4,500

TR [366) 5 3 1| A (RERSHERERRS | 2,300

EFkEHE [367) 5 3 2 | A [FAEERBTLESH [2628:30( 8,100

ETAHEE  (368) 5 3 2 | A |[BRRMTAERR | g5 g

ETkERE (369 - - — | A |Es®ismEmEgs | 25~27| 25,805

LTk [370) 5 3 2 | A |[#lEmESZABSE | 19~32 | 60,636

24/33




(#7#7] F2RRH

iy AN
=] FE

. g| cprrzmuzms By |
N -l e BRER wn | RERR
2 | 2 | B2
*
ETAEE 37| - - - C |8k - L 21~24 | 317,700
TKEERSEE
: B - L B
EFAEGE (32| 5 3 2 A s 25~31 18, 080
EFAESE (373 5 3 2 A |LRmEmREEESE | 27~20 | 579,924
\ ARG EEEIER 5
ETAEGE (34 5 3 2 A e | 28~29 20, 520
EToKER  |375| - - - A | FRERRERMMRE | g 3,996
. NEEFEBELSEE
EFAESE (376 5 3 1 A | DEEEERES 30 3, 240
SREER  (|377] — - = A |BFNEBOKEZTIE | 2 2,000
SEHRER  [378] - - - A |[DEFRERESHEL | 9 4,000
EREER |39 — — - A |FIEHEEHEASE 19~22 4,000
SERMER  (380] 4 i 1 A |mexemy 19~30 80, 960
*
EREER  |381 4 1 1 C |smEmpa 19~31 14,818
EREER  |382 4 1 1 B |m&EEREFZESZHME | 19~31 161,814
FREER  |383 4 1 1 A |FiFEENE 19~31 42, 955
ity ok g 2 RV EDE
BEKER (84| 4 1 i A [BORERAYIVE g 49, 226
ity ok g 2 N RV =
SRMER (385 4 i 1 A [ERERAYIVE g 41,552
24 4ok = E AR °\j U
SRHER (386 — - - A [ERIRAYIVE g 20, 476
EREER  |387 4 1 1 A |EREMELEREE 19~31 27,002
EREER 388 4 1 1 A |EM/PNAETEFSE 19~31 19, 063

25/33




(#7#7] F2RRH

iy AN
=] FE

. = | chHamuELEs T2 =
H \ s
N -l e BREE wn | RERR
2 | 82 | &=
SEHER (380 4 1 1 A |fENAETEASZ | 19~31 15. 700
PR&EBER 390 — — — A |FIEGTAETERS% 19~28 15, 960
spEER [391| 4 | : A 524&#&1 THEA | 19~31 129, 882
M ER (392] 4 1 1 A gi"‘tﬁﬁ' TEERA | 19~31 84 330
SR ER 393 - _ - A giqﬁ*ﬁ- THER | 1908 64,272
PREER (304 4 1 1 A [REERESERAESR | 1931 | 33529
ERHBER 395 4 1 1 A |EREEBETEASE 20~31 40, 271
sk gy _ _ _ KAERSIRERT T -
SEEER (397 4 1 1 A |FeethhmLEg 92 ~31 12,877
ERHBER 398 — — — A [EFY/NMEE#MEBASE 22 1,300
. INREERHETRIEEES
SHREER (399 — — — A )é% 5 23~24 6, 300
PIR&EBEHR 400 — — — A |EF/PMEIATRR 25~28 500
A g fMANIZT2=T4+-R -
SHHER (401 4 1 1 AL s 23~31 14, 255
. B 3 3 A T s
SEER 403 - _ - A fg"“%#%%gﬁﬁ&@ 24 800
SEHEG (404 — — — A |EFMN R LEIETS 25 20, 790

26/33




{%Ebi%fgﬁggﬁ

" | I=B15%Y 5 EE ¥ EWHE | g

N -l e BRER wn | RERR

2 | B8 | &=

SPRMEFR (405 — -~ — EMNEBARETISE 25 1,000
BIER 7 —ILAY

BREER (406 4 1 1 S— - HEXIEMKEE | 26~31 3, 681
A

SEREE (407 - - - REPREERAREL | 9 3,020

- B _ _ INPEESETEREES |

BRHEHR (408 T 27~28 3,738

PRHEFR  [409] — — — MBNEEEERETIE | 26 1,718

- AL EA GRS _

BREER (40| 4 1 1 e 25 1,265

FREER 411 4 1 1 RFMNMEEZERSTE 28~31 600

S RF/NIMES B BIK S

BREER  |412] 4 1 1 gl 29 6, 600

BREER  [413] 4 1 1 RFUNMABREREES | 28~29 4,136

PREER  |414] — —~ - MBARPRHAEESEE | 28 15, 000

;ﬁfi% 415 3 3 3 L AFTRERS 19~31 68, 444

FETCXE RBEEAETRESE(3| ;o

& 416 3 3 3 e ) 19~27 7,353

FECXKIER 417 3 3 3 FLLhNHLEEE 27 672

FETXIE _ _ _ REERSR - FETKIE |

P 418 gl 25~26 589, 477

FETKIE JrSy—-HE—FE | o

& 419 3 3 1 Exm 28~31 4, 800

FETXIE TP — - HR— R F |

A 20| 3 3 1 FA Ay 29~31 600

27/33




i) FREREAHE

w & SACEE = EX4 e

= V) £

N o P e FRBE w | EERA

= S S

IRTEE || g ; || B [FETEETIEERE | 507

;’é‘fi‘i% | — _ _ A %g%g’iﬁﬁ% RN Y 33,718

;%Ti*ﬁ 493 _ _ _ A %g%gigiﬁ% " I% 28 3Y 380

gE—CEZEé 494 _ _ _ A gg%giﬁiii’% " E% 28 80, 957

;%Ti*ﬁ 495 _ _ _ A %g%gigiﬁ% " I% 28 4Y 000

gE—CEZEé 496 _ _ _ A gg%giﬁiii’% " E% 28 6, 182

FETXE FECXELVY—EE

% 428 3 3 1 A BEz 29 10, 800
= HAERERTEE

;ﬁfi*ﬁ 9| 3 3 1 B |(FETHERS®HAE | 28~31 17,000

71N %)

ggfﬂ% 43| 3 3 1 A |REFY 28~31 291,048

THERBE |431 3 3 3 A |REF—N—HREBERXE 28~31 40, 681

28/33




(#138] SB2REH

Ly N E.

[y =N-]

5 z=| Chtzmuzzzs ey =i
a 2\ F2y
BE% s % Teenzmzse| & BEBE H#ARA wRR
= B B
HMNERBER 432 3 3 3 FELA DR LEEE 28~31 1,650
mAERER (433 3 3 3 f;’f%;ﬁf%ﬁ (31 931 864
MEEEE  |434] 3 3 3 BEX——BREEE | 28~31 11,909
MEEEE  |435] 3 3 3 FELANRLESE 28~31 873
MmEsEE  |436] 3 3 3 %E)E TERERA| 5.3 444
anarR (37| - - - ffii;;;;g’ 22 1,800
. *
HEHER 438 — — — AERAREH KSR 22 2,730
*
HeBERZ (439 — — — ggiﬁ*‘%%t vE—W | 94 120, 000
HEHER 440 — — — FEIGEXIIEE 23 4,000
HEHE R 441 — — — NRESHRMESTE 23 12,000
sawEm  |442| 4 2 1 é%g{;;??ﬁm” ~31 21,000
HemEFR |43 — - - E%@Eﬁlﬁiﬁ*l_ E |l nu 2. 500
HemEE (44| 4 2 1 itk \— 7 BN — b 30 3. 000

R—ILSRRELTSE

29/33




(#7#7] F2RRH

iy AN
=] FE

y | chF3muBLES Ty EW |
N -l e BRER wn | RERR
= B B
= EFRTRATEE/NEEERE
HeHBEFZ |45 4 2 1 BT B 24+ 29 37,000
- EFMMRARBSEH—T >
HegBGE 446 4 2 1 Fayladia 30 3,000
HeusE 47| 4 2 1 B& G T—L{E 29~30 26, 684
HeusE 448| 4 2 1 ARENMERETSE 25~31 79, 662
2= b LERE (%) - F -
A 449| 4 2 4 RETE 32 11,678
EMETRASE
HeuE 40| — — — NR7y FSI—LBET 26 3,176
-
= MAZE -V TZ VK
A 451| 4 2 4 kT 31 95. 000
FERIZATAYVEY Y
Heys 452 4 3 1 HiS (EFETHE) ZEFE | 30~31 6, 400
DERK
- AREMSE - AREERE | o
A 453 4 2 1 R bEEn  migamE | 30~3 10, 000
HRYER (454 - - - IRARIMANZERE | 9 1,400
*
B _ _ _ BTN EERIEEFES
AL B 455 P G 23 3,786
MEBAEMAMEREE
AL R 456 — — — iy 24 4 536
*
g [d:7RER 457 4 4 3 01 I 75 A [ 25 45 i g 31 6, 000
*
AL BHR 458 4 4 3 178 A [ R 23 A Hh 4t 31 2,000
AL 459| 4 4 3 RERREMRIABFE | )64 15, 121

E S

30/33




i) BeREMpaTtE
" & [CHEITH&%= = EX4 £
Auk |2 X 43 @
BER 5[ |[eemEwEss]| EREE o) BRE
= E5 E5
2 RIFEEE A |
XAL B R 460| 4 4 3 A |Spmis (o8 19~32 314, 670
Bt R 61| — —~ - *x 19~24 8,119
XieR R b =B EE
_ _ _ chithEH (K@ KEE N
AL B 462 A o mp=r 20~21 1,200
BRSBTS B | .
AL B 463 4 4 3 A |S5e s 26~36 26, 207
ENORERE SEH |,
AL B 464 4 4 3 A s 22~31 31,774
*
X AL Bt % 465 4 4 3 C |FLEESFRDRERER | 22~30 2, 445
*
LBt % 466 4 4 3 C |EaREEtsSHERE | 22~31 176, 887
=% 3
EREEEREE S A |
XAL B R 467| 4 4 3 A [Cran 23~29 1,900
XL Bt % 468 4 4 3 A |FILEERRESE 24~29 3,678
PORUERREESE |,
XAL B R 469| 4 4 1 A [Bosa 24~28 4,041
SIEBHE  [470] - - - A |SHEESIERRERET | 945 13,576
X 1Bt R 4an — — - A [LEZLEERFSE 25 5,775
SIEEHE  [472] 4 4 3 A |EETEMERRRER | 9599 18,810

31/33




{%‘ﬁ%i] +§2-§f§£§5 E
1z S [2HITH= = =% £ =Sy
A VAN 4y
BER 2% leenzlmEsn| ERHE H#ARA wRR
2 | =2 | =B
& |d:7REA 473 4 4 3 A [BEFEHES8RESEMEE | 24~31 21,991
ALBHE a74| 4 4 1 A |[LETMREEMEERE | o) g 12, 000
BB
EEBERFEEHEETE -
ALBHR a5 4 4 3 v o 24~28 21, 602
ALBHE 476| 4 4 3 A giwﬁqﬂuﬁ‘%ﬁ%ﬁ 29~ 68, 319
ALBHE 77| 4 4 3 A gmﬁmﬁﬁ%ﬁ%ﬁ% 29~31 30, 000
ALBHE a78| 4 4 3 A |[EREEERcKSE 24~ 27,524
;’gfjﬁﬁ*ﬁ 479| 4 2 6 B |mEmumEs 31 100, 000
_ A E S EES
gg%ﬁﬁﬁ 10| 4 2 6 A /]%ﬁ"a"l‘%iﬁ*‘y ko— | 25~ 10, 642

32/33




(i) BORERRETE

1z S IZHBITH&= =1 ExL =HE

H VAN ”/6

BE% s % Teenzmzse| & EEE g | RERR

= | &= | ==

AEB LA EELE Sy kT — 2

sEiF o4 2 5 | A [szam: @ss) 30 2,500
I £ 33,578, 883
= g 33,578, 883

33/33



